Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732

FINELITE

Better Lighting

HP-4 Mitered Corner Installation Instructions

Scan QR code for

Quter Elbow
Bracket

helpful video(s)

Double Diffuser

X | (pre-installed)
Outer Joint Bracket \ j

Outer Aligner Sleeve ¥ X ' » Outer Aligner Sleeve

QOuter Joint Bracket

Outer Aligner Sleeve

Outer Elbow Bracket

0-10V , #8-18 x 1/2" Combo Hex Screw
Dimming NS (provided)
O 1/4"-20 x 3/8" Screws (2)
) \ (provided)

. J(4) 1/4"-20 x 3/8" . ‘\ A / "
Mitered Corner ///Zé/é/ 7 Screws (provided) “\ \\ 4 ‘}
Assembl —— €k | \§\ \ . 1 . :

\Z© Joiner \\ \u““ .
% \\\\
Inner Elbow Bracket | \\\\\ ! Q\‘\\‘>{\
Starter - \\\ \“\1\\\
W
\ \
i \\ \ \\\\
Remove #8-18 x 1/4" screws to open both the joiner and starter trap doors. Then Connect plug-together wiring. Align joint brackets to channels  Fasten the outer elbow bracket and aligner sleeve using two 1/4"-20 screws.

remove four 1/4"-20 x 3/8" screws from both the outer and inner elbow brackets. and slide luminaires together.

Then fasten the outer joint bracket and aligner sleeve using one #8-18 x1/2"
combo hex screw.

#8-18 x 1/2" Combo Hex Screw

Double Diffusers
(provided)

(pre-installed)

Inner Joint Bracket

Inner Aligne
Sleeve

r
//

0
N\ #8-18 x 1/4"
\\ Screw (provided)
8! BB\
1/4"-20 x 3/8" e . . _ e |
\\\ Screws)((2) (provided) b @ N Trap Door ° . \\ ‘
AN ° o i
\\\ ° o s !
AN J © (7 N ° @ \
Fasten the inner elbow bracket and aligner sleeve using two 1/4"-20 screws (provided). Then fasten the inner joint bracket and Replace trap doors and fasten with #8-18 x 1/4" screws (provided). Ensure right (long section) diffuser is under left (short section)
aligner sleeve using one #8-18 x 1/2" combo hex screw (provided). diffuser tabs.

Note: All power connections to be installed to

local/national codes by a Certified Electrician. Finelite, Inc. = 30500 Whipple Road  Union City, CA 94587-1530 « (510) 441-1100 = Fax: (510) 441-1510 « www.finelite.com 1

LL/¥0 "ZA 10286 W04 "QIAYISIYH SIHOIY TV "ONI ‘ILITINI L10C @



